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Polynomial approximations to y =cosx. The
value of n is the degree of the approximating polynomial.
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n=3 n=7 n=11 n=15 n=19

Polynomial approximations to y =sinx. The
value of n is the degree of the approximating polynomial.

Find a series solution in powers of x of Airy’s* equation

y” —Xxy = 0,

—o0 < x < Q.
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For the differential equation: (3 — x)y” + ¢’ + y = 0, compute the recurrence formula for the coefficients of the power
series centered at zo = 0 and use it to compute the first four nonzero terms of the solution with y(0) = —2 and y'(0) = 3.
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